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- 49 oiv] : As, Pb, Cd, Cr 471 59| 7% A 0.07 ~ 0.408] 72
PM-10, Ni, Mn & 87} &2 &= 57k (0.01 ~ 0.90% 57D
- Zd 5] : As, Pb, Cd 5 107} &=F9] w5 74 (0.05 ~ 0.679 22

PM-10, Al 27] 82 55 %7} 0.12 ~ 0.334] 27D

T =2 BHO | As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al

ALy 0.52 | -0.07 | -0.19 | -0.40 | 0.35 0.37 | 0.48 | -0.37 | 0.43 0.00 | 0.01 0.02 | 0.90

o
u}

U
&

—
[as)
==

Adzdopy] || 0.33 | -0.28 | -0.53 | -0.67 | -0.51 | -0.25 | -0.27 | -0.55 | -0.05 | 0.00 | -0.28 | -0.63 | 0.12

(9 epg/ m)

- = 27300 As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al

o 4 0.0028 | 0.0089 | 0.0003 | 0.0046 | 0.0436 | 0.8604 | 0.0052 | 0.2831 | 0.0001 | 0.6944 | 0.0089 | 0.4871

3= 47 0.0024 | 0.0052 | 0.0003 | 0.0016 | 0.0279 | 0.7430 | 0.0010 | 0.2943 | 0.0001 | 0.7516 | 0.0034 | 0.5424

=22
o YA 42 0.0031 | 0.0123 | 0.0003 | 0.0038 | 0.0478 | 0.8676 | 0.0042 | 0.2809 | 0.0001 | 0.6775 | 0.0099 | 0.4709
¢ 42 0.0028 | 0.0093 | 0.0003 | 0.0085 | 0.0550 | 0.9707 | 0.0103 | 0.2739 | N.D. | 0.6541 | 0.0135 | 0.4481
ESR=| 29 0.0030 | 00110 | 00005 | 0.0034 | 00318 | 05797 | 0.0083 | 0.1973 N.D. 0.6870 | 0.0087 | 0.2568
S o= 33 0.0039 | 0018 | 00009 | 00094 | 0.0584 | 11712 | 00115 | 02978 | 0.0001 | 0.9599 | 0.0239 | 0.4363

#3771 PM-10 100pg/ni, Pb 0.5ug/m
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(0.20 ~ 0.918) 7&)

: As, Pb, Cd, Ni 5 67}

- 24 o

<=7} (0.05 ~ 0.884] =71

PM-10, Mn, Fe & 6711

(0.48 ~ 100w} Z4)

(0.08 ~ 1008} 371



Ea-18iE] 0.88 | -0.25 | -0.42 | -0.25 | -0.20 | 0.42 | 0.38 | -0.91 | 0.45 | 0.00 | 0.05 | -0.49 | 0.87

Ad-54oe] || 0.33 1.00 | -0.48 | 0.00 | -0.62 | 0.22 | 0.15 | -0.67 | 0.48 | -1.00 | 0.08 | -0.63 | 0.66

- 2(Pb) : 0.0052ug/mi 2 73 7120.50g/n1)2] 1.0% +=

(P g/ )

T B2 PMHI0 As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al
=249 47 0.0024 | 0.0052 | 0.0003 | 0.0016 | 0.0279 | 0.7430 | 0.0010 | 0.2943 | N.D. 0.7516 | 0.0034 | 0.5424

A 25 0.0032 | 0.0089 | 0.0004 | 0.0020 | 0.0196 | 0.5403 | 0.0108 | 0.2034 | N.D. | 0.7131 | 0.0067 | 0.2899
iz 35 0.0012 | 0.0100 | 0.0003 | 0.0042 | 0.0228 | 0.6482 | 0.0030 | 0.1986 | 0.0001 | 0.6986 | 0.0092 | 0.3273

- AL gE :Pb, Cd, Cr M FEY & A (0.02 ~ 0504 Z+4&)
PM-10, As & 9l @59 = S7F (0.03 ~ 1.038) =7}
-Zd T OFl: As, Pb 5 171 59 5 4 (0.10 ~ 0.754] 74

PM-10 17) =9 =% =7} 0.319) =7h

-+
e
g

As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al

ALhy] 0.35 | 0.03 | -0.02 | -0.50 | 0.27 | 0.39 | 0.56 | -0.25| 0.50 | 0.00 | 0.06 | 0.36 1.03

AA=Loy] | 0.31 | -0.40 | -0.51 | -0.75 | -0.67 | -0.35 | -0.39 | -0.67 | -0.22 | 0.00 | -0.40 | -0.68 | -0.10




- J(Pb) : 0.0123pg/ni = 73 7)10.5pg/nt)S] 2.5% T+

=

(S:pg/ m)

T2 530 As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al
=< 42 0.0031 | 0.0123 | 0.0003 | 0.0038 | 0.0478 | 0.8676 | 0.0042 | 0.2809 | 0.0001 | 0.6775 | 0.0099 | 0.4709
ISR 31 0.0030 | 0.0126 | 0.0006 | 0.0030 | 0.0345 | 0.5544 | 0.0056 | 0.1868 N.D. 0.6411 | 0.0073 | 0.2321
A= 32 0.0052 | 0.0252 | 0.0012 | 0.0116 | 0.0733 | 1.4271 | 0.0129 | 0.3603 | 0.0001 | 1.1333 | 0.0309 | 0.5239

O B4E 22
- A4 tM]: As, Pb, Cd, Ca 47} 359 &% 74 (0.03 ~ 0.508] ZF&)
PM-10, Ni 5 871 329 5% 270 (013 ~ 0808 27D

- Al 5€ 0¥ : As, Pb 5 127 &9 F% A 0.02 ~ 1.008) 74
PM-10 17 &9 % <7} 0.3180 57b
T2 PMIO | As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al
Ea=1ual| 0.31 -0.03 | -0.20 | -0.50 | 0.63 0.33 0.51 0.21 0.36 0.00 | -0.07 | 0.13 0.80
4]
(81
HE =] 0.31 -0.47 | -0.56 | -0.70 | -0.32 | -0.31 | -0.33 | -0.45 | -0.18 | -1.00 | -0.38 | -0.57 | -0.02
- F(Pb) : 0.0093ug/m = 273 7120.5ng/m)e] 1.9% =<
(Sl:pg/ m)
TE PO As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al
=< 42 0.0028 | 0.0093 | 0.0003 | 0.0085 | 0.0550 | 0.9707 | 0.0103 | 0.2739 N.D 0.6541 | 0.0135 | 0.4481
S 32 0.0029 | 0.0116 | 0.0006 | 0.0052 | 0.0414 | 0.6443 | 0.0085 | 0.2017 N.D. 0.7067 | 0.0120 | 0.2483
AE=d 32 0.0053 | 0.0213 | 0.0010 | 0.0125 | 0.0792 | 1.4382 | 0.0187 | 0.3345 | 0.0001 | 1.0478 | 0.0316 | 0.4577




A2 XYl il

BAb Ao A FE Y1 (52 X2 ni=™oR 2020. 42 XIS HIl

FAEA S gjv] ¢ Pb, Cu, As 37 &2 7ol

| N

HE

Al HERs o

Cd Cr, Mn 5 8/l &&= Aol = Hehe.
€229 tivl : Pb, Cd, Cu 5 107 &5 Zdo] WA Jegton

Cr D§ &&& Zgol =7 Uehe.
HPh) F& : Aol F4t, ARG WA Y.
745t 0 0.0110pg/md - FAF 0 0.0118pg/md - =4t 0.0285pg/mi
dFe) 5 Ado] F4b BHop #A, ARG UA YERd
At 0 0.5797ug/nd - FAF 0 0.3523pg/nd - =4F 0 1.0900pg/ mt

($1:pg/ m)

= Pb Cd Cr Cu Mn Fe Ni A Ca Ms As Be

74 | 0.0110 | 0.0005 | 0.0083 | 0.0087 | 0.0318 | 0.5797 | 0.0034 | 0.2568 | 0.6870 | 0.1973 | 0.0030 | N.D.

(2(7)(‘%0%4) YAt | 0.0118 | 0.0002 | 0.0032 | 0.0100 | 0.0200 | 0.3523 | 0.0024 | 0.0897 | 0.2673 | 0.1307 | 0.0033 | N.D.
AL | 0.0285 | 0.0016 | 0.0028 | 0.0274 | 0.0576 | 1.0900 | 0.0037 | 0.4904 | 1.1729 | 0.4010 | 0.0048 | N.D.

(F$1:pg/ m)

Pb Fe
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o

i
]
i




AL 24k Ad 5 5 Hla
AR tiH] - Pb, Cd, Cr & 1270 &% =25 Zdol = vebd
=4HAS e Pb 1) &E2 o] wA veger

Cd, Cr, Cu, Mn & 17} @52 Zgol =7 vehe:

H(Pb) §% : Aol Ft By #£4,

- 74 ¢ 0.0188ug/m

d(Fe) &

o

AR T UHA YER
: 0.0118pg/nd

|=]
- BAE

- &4k 0.0255ug/ m

D 7ol FAk, AR =4 U

. 3 . 3 @) . 3
-3 11712ug/nd - F4F 2 0.3523ug/m - &4F ¢ 0.9501 g/ m
(+$]:p8/ m)
e Pb | Gd | & | Gu | Mn | Fe | N | A | G | Mg | A | B
< 0.0188 | 0.0009 | 0.0115 | 0.0239 | 0.0584 | 1.1712 | 0.0094 | 0.4363 | 0.9599 | 0.2978 | 0.0039 | 0.0001
ko)
E‘(%(])“fl]‘s;%.sa) =P ¥ 0.0118 | 0.0002 | 0.0032 | 0.0100 | 0.0200 | 0.3523 | 0.0024 | 0.0897 | 0.2673 | 0.1307 | 0.0033 N.D.
AL 0.0255 | 0.0006 | 0.0007 | 0.0208 | 0.0402 | 0.9501 | 0.0050 | 0.4345 | 0.8407 | 0.2637 | 0.0036 N.D.
(Z9:ug/ m')
Pb Fe
05 2.0
=3 16
03 12
.01 4
Zy 24 s 2y 2 =
< A9 ¢ FRIF F= Hu >



[8 & 1] ZAPDI2E I S wzan: =34 =3 1)

O =¥ AsAA 71206, 11. ~ 5. 15) SAAE 714 %

- Y7L 18.3CEE) ~ 19.2C(H A)
- AEE : 51.3%(HA) ~ 55.2%(5H%)
- P#ELE o L1m/s(E) ~ 1.9m/s(8Hs)
CSAHALE 71488 >
BH7]2(°C) TS E(%) Z4&(m/s)
/\]Eiﬂx Ql
WA | 2 | sl | WA | 2S | s | @A | xR | s
1Y X} 21.1 20.5 20.4 50.0 53.0 51.5 1.5 1.3 1.9
2U X} 19.6 19.3 19.3 46.5 50.1 43.7 1.9 1.2 2.8
3AUX} 18.8 17.9 17.4 39.0 44 .1 46.8 1.7 1.1 1.7
4AX} 19.6 18.9 18.3 40.5 43.0 47.8 1.5 1.0 1.9
52X} 16.9 16.3 15.8 80.4 79.6 86.0 1.4 0.9 1.0
¥ 19.2 18.6 18.3 51.3 54.0 55.2 1.6 1.1 1.9
O FTTE AT
- HAE SAHL  AEAT 19.2%E TAHOE YA ~ BAF 68.4% A
- Hole = A - G3E 368%S FAog B 145% WA
- 35S EAHL  BAFE 192%E FA0Z A ~ BF A1.7% LA
< SALE ABAFH7IZE FHE D

Wind Speedim/s )
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